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Homework Answers Work on Warm-Up in Today's Notes
pg 356 - 358:
4. {B3,-1),(5,2),(5,-3). (0, 2)} OMIT: 44, 48 & 60

56. f1(x) = -x +7 78 & 80 see graph from toniaht' W

59. £(x) = (4 - 7x)/x o= (x-3x - -ty ) ‘—

f(x): D: {x|xz-7} f(x): D: {x|xz-1} - ()(1-3)
R: {yly z 0} R: {ylly # 0} ——
f1(x): D: {x|x 20} f1(x): D: {x|x 0}
R {yly# -7} R: {yly#-1} < X135
61. £1(x) = (3x+4)/(x-1) 96) £(x) = (2x + 1)/(1 - x)
f(x): D: {x|x# ‘4?3} f(x): D: {x| # -2}
R {ylyz 1} . Rilyly=1
f1(x): D: {x|x 21} f(x) D: {X||>< 21}
R: {yly z 4/3} R: {ylyz-2}
>
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Warm-Up: Find the inverse algebraically.

1
1. flx)=—
() x—1

2.

f)=2

3x-4
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Warm-Up: Find the inverse algebraically.
|
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X y-l & X= 2+ |
XY-% = | ) XY +X = 3Y-4
wy= el N gvy-ay=x
= +\ — =\~ v
Y= X X Y
:Lk&k )= X=-4
Prx)=%1 J i 2X3
<Yzt - -t X+ 4
- A I _-_X__q _c X )= =——r0
D X+0 (3_ L0 ()= 3=
R+ | %L’? fD:X#%
y# -3
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Graphy = -3* 4y
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List the transformation(s) needed to transforn] h(x) = 2“Into the graph of the given 9\52 7«:3—
function:
L«
(r) f9=-2°-5 f(x) =2 -5
Vakxas Slgé*’ @ V oot 5“*5{1_ dw,:—i
~ hovanchn L ST H4
f(x) = 2" +1 c @ f(x)=27-4
V-0t Lint fy-axtS
R R g o

& =8 kel Skagt gt
Vel streteh £ =

Write the f(x) which is h(x) translated up 2 and left 3.
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Po 357 * 4 P 370-371 :
find +he inverse 4. £(x)=37% grr;c[() th%nper
t(x)= 5% 7. y= 2% wf+ables
27-32 State Transformationsfrom

27. £ (x)= 2’<*' ) =2%
28 £(x)= 2’<‘

29, £(x)=2"

30. £(X)= 2’<-/—l

al. from £ (x)= 3% f(x)= -3~
32.§06)=2¢"-3
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